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SANH AR IFR=RAY 59,000 59,100 A 100
401 Al HIZ 2018 59,000 59,100 A 100
01 A& HI 59,000 59,100 A 100
OLARFLUEHAALS 50,000
OFQAN 3 A 9,000
sXNE FArze 108,327 ,958 10,369
101 @124 dl 14,259 ,198 1,061
04 DIt 22 XREES 14,259 ,198 1,061
O 249 JIt2d 80, 100& x 159 x83| 9,612
OgIAAY 212 69,7603 x1H 60 4,186
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01 At 221l 33,592 51,400 A 17,808
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O =E J2+2 Fl 1,000
oYL= |RFH 4,536
a7 1, 160& x3,5004 4,060
es 1,360& *3504 476
301 LEXZ 13,440 0 13,440
12243 13,440 0 13,440
OFgFEMMA(1 1538 HsE8S 2AM+E) 13,440
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2M: 2XH
g 2XH #F283
gel: XY J=23Hl fEH)
A B3-S (3AH) - MIRAY - BES Off &t 24 %Ei Hns2
= 2SI 37,705 39,645 A 1,940
& I3l 37,705 39,645 A 1,940
Ag D=3 37,705 39,645 A 1,940
201 L Et2A | 4,745 4,845 2100
01 AtR 22l | 4,745 4,845 A 100
OF2g M 25,0003 113 2,825
O=&Hl 1,920
202 o4 Hl 22,800 24,600 A 1,800
01 SLHOHI 1,200 1,200 0
O=Uoibl 1,200
02 M0l 21,600 23,400 A 1,800
O HOHI 150,000& «12F * 21,600
203 ¥R =&l 10,160 10,200 A40
01228 g=aHl 6,600 6,600 0
og 6,600
02 3 Jtatg 2= 560 600 A40
OF et =& 560
04 EASSYRFEH 3,000 3,000 0
ORNMEEYRFIY 3,000




